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Exercise d6(E) 

e 5.Doing clas picnic, kaJndbouota Do 

olld chips fola 25.50,ocoke foca 6.255 

a chocolate Fon.L0. Hawmuch mone) 

She Spehd 

Castof oupocket of chips=25,0 
Cast ot 

Cost ot chocolote= 10 
o Coke 36.25 

lota mohety she spent 25.50+3,3 
A0=175 

P 
25 50 

25 
00 10 

75 

Sototaulaumaune of moneg she sDehtD 675 



6.Roldha wo& honing 2 4000. She bouglhto 
daessfolt5.50 How much.umanky does 
She haNe now 

Amounb ot moneyy she wos howine 1000 
Ghs Castot hed daess.z 544050 

Amouyrtct monel she houc now 1000+ 
594.50=uo50 

9 

544 
O400 

So,Ahounb et money She ho.S how is 0850 
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